City Engineer's Estimates

For WS-24-4 ASPHALT PAVING II ALLEYS
TYPE OF WORK PERFORMED

November 11, 2024

2&FINAL

Vinton Construction Company	April 16, 20	24			September 13, 2024	4	- 3	\$622,536.11 AMOUNT OF CONTRACT	-
Alleys, Orchard Ln, Elder Dr, River Ct							CO#1 CO#2 TOTAL	\$887.50 \$28,759.65 \$652,183.26	
DESCRIPTION	NO. 1 PREVIOUSLY	NO. 2 COST WORK PREVIOUSLY	NO. 3 COMPLETED	NO. 4 COST WORK COMPLETED TO	NO. 5 DIFFERENCE	NO. 6 DIFFERENCE	11-	- U - 24 Date filed with Secretary	
	COMPLETED	COMPLETED	TO DATE	DATE	COLUMNS 1&3	COLUMNS 2 & 4		Date approved by Board	
							AMOL	JNT RECOMMEND	ED
							1	\$47,534.40	
		SEE (COMPUTER PRIN	TOUT				ψ+7,004.10	
INVOICE #: 24079.2		OLL (JOINI OTERTINIT				/ BO/	ARD SIGNATURES	,
INVOICE DATE: 10/31/2024			FOR DETAILS					14	
							with M	. tured	
							(12/5)		
								1006)
							Tool.	PN Page	2
							Sh	mg/	
							M	1	
							Lun.	nhill	
							June	1000	
				/1			r han	1	
							Thank	mys-	
								D	
							Date Paid Check No.		
							Voucher No.		
TOTALS		\$620,212.26		\$652,183.26		\$31,971.00	Asphalt	4300-32290-582330	\$46,426.71
PAYMENTS		\$604,648.86		\$652,183.26		\$47,534.40	Sanitary	6300-71100-582600	\$238.19
AMOUNT DUE, FINAL PAYMENT						\$47,534.40	Storm	4200-32320-582500	\$869.50
4								TOTAL	\$47,534.40
11-6-14	CITY ENGINEER							Copy For	

FOR 2024 ASPHALT PAVING II ALLEYS

CITY OF MANITOWOC CONTRACT NO. WS-24-4

Contractor: Vinton Construction Company

CONTRACT DATE: April 16, 2024

PAY ESTIMATE NO.: 2-FINAL

DATE: November 6, 2024

COMPLETION DATE: September 13, 2024

CONTRACT AMOUNT:

\$622,536.11

Change Order #1:

\$887.50

Change Order #2-Final:

\$28,759.65

					QUANTITY	COST WORK	QUANTITY	% OF WORK	COST WORK	OUNDERNY	COST WORK
ITEM			BID	UNIT	PREVIOUS	PREVIOUS	COMPLETED	COMPLETED	COMPLETED	QUANTITY	
NO.	ITEM DESCRIPTION	UNIT	QUANTITY	PRICE	COMPLETED	COMPLETED	TO DATE	TO DATE	TO DATE	DIFFERENCE	DIFFERENCE
lley	13 bounded by New York Ave, N 14th St, Wisconsin	Ave &	N 13th St								
1	Mobilization	LS	1	\$9,800.00	0.00	\$0.00	1.00 *	100%	\$9,800.00	1.00	\$9,800.00
2	Traffic Control	LS	1	\$3,525.00	1.00	\$3,525.00	1.00 *	100%	\$3,525.00	0.00	\$0.00
3	Sawing Asphalt/Concrete Driveways	LF	64	\$10.00	53.00	\$530.00	53.00 *	83%	\$530.00	0.00	\$0.00
4	Unclassified Excavation (Pav't, Driveways)	CY	297	\$32.85	297.00	\$9,756.45	297.00 *	100%	\$9,756.45	0.00	\$0.00
5	12" Crushed Aggregate Base Course	SY	712	\$10.53	712.00	\$7,497.36	712.00 *	100%	\$7,497.36	0.00	\$0.00
6	Undistributed Geo-Grid	SY	687	\$2.00	0.00	\$0.00	0.00 *	0%	\$0.00	0.00	\$0.00
7	3" HMA Pavement, Type 4LT 58-28S	TON	115	\$198.70	115.66	\$22,981.64	115.66 *	101%	\$22,981.64	0.00	\$0.00
8	Tack Coat	GAL	33	\$3.85	0.00	\$0.00	0.00 *	0%	\$0.00	0.00	\$0.00
9	Remove & Replace 8" Concrete Driveway w/ 2" C.A.B.C.	SF	156	\$13.45	165.00	\$2,219.25	165.00 *	106%	\$2,219.25	0.00	\$0.00
10	3" Pulverized Topsoil	SY	67	\$8.50	148.00	\$1,258.00	148.00 *	221%	\$1,258.00	0.00	\$0.00
11	Seed (#40), Fertilizer, and Water	SY	67	\$3.00	148.00	\$444.00	148.00 *	221%	\$444.00	0.00	\$0.00
12	Erosion Mat Class 1, Urban, Type A	SY	67	\$4.00	148.00	\$592.00	148.00 *	221%	\$592.00	0.00	\$0.00
	Remove & Replace Type "J" Casting (R-1550-A). w/ "T" Gasket, Sanitary	EA		\$995.00	0.00	\$0.00	0.00 *	0%	\$0.00	0.00	\$0.00
13		are a									
13	Limestone Screenings Transition, 3 Feet Wide	LF	80	\$20.00	54.00	\$1,080.00	54.00 *	68%	\$1,080.00 \$59,683.70	0.00	2.7(500,00
14	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14	LF				\$49,883.70			\$59,683.70		\$9,800.00
14 11ey #	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization	LF			0.00	\$49,883.70	1.00 *	100%	\$59,683.70	1.00	\$9,800.00
14	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14	LF		\$20.00	0.00	\$49,883.70 \$0.00 \$3,525.00	1.00 *	100%	\$59,683.70 \$9,800.00 \$3,525.00	1.00	\$9,800.00
14 11ey # 15 16	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization	LF Ave &		\$20.00	0.00 1.00 253.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00	1.00 * 1.00 * 253.00 *	100% 100%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00	1.00	\$9,800.00
14 11ey # 15 16	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control	LF Ave & LS LS	N 14th St	\$20.00 \$9,800.00 \$3,525.00	0.00 1.00 253.00 407.00	\$49,883.70 \$0.00 \$3,525.00	1.00 * 1.00 * 253.00 *	100% 100% 118%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95	1.00 0.00 0.00	\$9,800.00
14 11ey # 15 16	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course	LF Ave & LS LS LF	N 14th St 1 1 214	\$9,800.00 \$3,525.00 \$5.00	0.00 1.00 253.00 407.00 977.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81	1.00 * 1.00 * 253.00 * 407.00 *	100% 100% 118% 100%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81	1.00 0.00 0.00 0.00	\$9,800.00
14 11ey # 15 16 17 18 19 20	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid	LF Ave & LS LS LF CY	N 14th St 1 1 214 407	\$9,800.00 \$3,525.00 \$5.00 \$32.85	0.00 1.00 253.00 407.00 977.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00	1.00 * 1.00 * 253.00 * 407.00 * 977.00 *	100% 100% 118% 100% 100%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00	1.00 0.00 0.00 0.00 0.00	\$9,800.00
14 11ey # 15 16 17 18	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course	LF LS LS LF CY SY	N 14th St 1 1 214 407 977	\$9,800.00 \$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53	0.00 1.00 253.00 407.00 977.00 0.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81	1.00 * 1.00 * 253.00 * 407.00 * 977.00 * 0.00 *	100% 100% 118% 100% 100%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81	1.00 0.00 0.00 0.00 0.00 0.00	\$9,800.00
14 11ey # 15 16 17 18 19 20	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid 3" HMA Pavement, Type 4LT 58-28S Tack Coat	LF LS LS LF CY SY	N 14th St 1 1 214 407 977 685	\$20.00 \$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53 \$2.00	0.00 1.00 253.00 407.00 977.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00	1.00 * 1.00 * 253.00 * 407.00 * 977.00 *	100% 100% 118% 100% 100%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00	1.00 0.00 0.00 0.00 0.00	\$9,800.00
14 11ey # 15 16 17 18 19 20 21	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid 3" HMA Pavement, Type 4LT 58-28S	LF LS LS LF CY SY TON GAL	N 14th St 1 1 214 407 977 685 161 46	\$20.00 \$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53 \$2.00 \$195.40 \$3.85	0.00 1.00 253.00 407.00 977.00 0.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81	1.00 * 1.00 * 253.00 * 407.00 * 977.00 * 0.00 *	100% 100% 118% 100% 100%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81	1.00 0.00 0.00 0.00 0.00 0.00	\$9,800.00
14 11ey # 15 16 17 18 19 20 21	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid 3" HMA Pavement, Type 4LT 58-28S Tack Coat Remove & Replace 8" Concrete Driveway w/ 2"	LF LS LS LS CY SY TON	N 14th St 1 1 214 407 977 685 161	\$20.00 \$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53 \$2.00 \$195.40	0.00 1.00 253.00 407.00 977.00 0.00 177.65	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00	1.00 * 1.00 * 253.00 * 407.00 * 977.00 * 0.00 * 177.65 *	100% 100% 118% 100% 100% 0% 110%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00	1.00 0.00 0.00 0.00 0.00 0.00	\$9,800.00
14 11ey # 15 16 17 18 19 20 21 22	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid 3" HMA Pavement, Type 4LT 58-28S Tack Coat Remove & Replace 8" Concrete Driveway w/ 2" C.A.B.C.	LF LS LS LF CY SY TON GAL SF	N 14th St 1 1 214 407 977 685 161 46	\$20.00 \$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53 \$2.00 \$195.40 \$3.85	0.00 1.00 253.00 407.00 977.00 0.00 177.65 0.00 214.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30	1.00 * 1.00 * 253.00 * 407.00 * 977.00 * 0.00 * 177.65 * 0.00 *	100% 100% 118% 100% 100% 0% 110% 0%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30	1.00 0.00 0.00 0.00 0.00 0.00 0.00	\$9,800.00 \$9,800.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
14 11ey # 15 16 17 18 19 20 21 22 23 24	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid 3" HMA Pavement, Type 4LT 58-28S Tack Coat Remove & Replace 8" Concrete Driveway w/ 2" C.A.B.C. 3" Pulverized Topsoil	LF LS LS LF CY SY TON GAL SF	N 14th St 1 1 214 407 977 685 161 46 210 47	\$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53 \$2.00 \$195.40 \$3.85 \$13.45 \$8.50	0.00 1.00 253.00 407.00 977.00 0.00 177.65 0.00 214.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50	1.00 * 1.00 * 253.00 * 407.00 * 977.00 * 0.00 * 177.65 * 0.00 * 214.00 *	100% 100% 118% 100% 0% 110% 0% 110%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50	1.00 0.00 0.00 0.00 0.00 0.00 0.00	\$9,800.00 \$9,800.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
14 11ey # 15 16 17 18 19 20 21 22 23 24 25	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid 3" HMA Pavement, Type 4LT 58-28S Tack Coat Remove & Replace 8" Concrete Driveway w/ 2" C.A.B.C. 3" Pulverized Topsoil Seed (#40), Fertilizer, and Water	LF LS LS LF CY SY TON GAL SF SY SY	N 14th St 1 1 214 407 977 685 161 46 210 47	\$20.00 \$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53 \$2.00 \$195.40 \$3.85 \$13.45 \$8.50 \$3.00	0.00 1.00 253.00 407.00 977.00 0.00 177.65 0.00 214.00 77.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50 \$231.00	1.00 * 1.00 * 253.00 * 407.00 * 977.00 * 0.00 * 177.65 * 0.00 * 214.00 * 77.00 *	100% 118% 100% 100% 0% 110% 0% 110% 164%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50 \$231.00	1.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	\$9,800.00 \$9,800.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
14 11 11 11 11 11 11 11 11 11 11 11 11 1	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid 3" HMA Pavement, Type 4LT 58-28S Tack Coat Remove & Replace 8" Concrete Driveway w/ 2" C.A.B.C. 3" Pulverized Topsoil Seed (#40), Fertilizer, and Water Erosion Mat Class 1, Urban, Type A	LF LS LS LS LF CY SY TON GAL SF SY SY SY TON	N 14th St 1 1 214 407 977 685 161 46 210 47	\$20.00 \$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53 \$2.00 \$195.40 \$3.85 \$13.45 \$8.50 \$3.00 \$4.00	0.00 1.00 253.00 407.00 977.00 0.00 177.65 0.00 214.00 77.00 77.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50 \$231.00 \$308.00	1.00 * 1.00 * 253.00 * 407.00 * 977.00 * 0.00 * 177.65 * 0.00 * 214.00 * 77.00 *	100% 118% 100% 100% 0% 110% 0% 110% 164% 164% 164%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50 \$231.00 \$308.00	1.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	\$9,800.00 \$9,800.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
14 11 15 16 17 18 19 20 21 22 23 24 25 26 27	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid 3" HMA Pavement, Type 4LT 58-28S Tack Coat Remove & Replace 8" Concrete Driveway w/ 2" C.A.B.C. 3" Pulverized Topsoil Seed (#40), Fertilizer, and Water Erosion Mat Class 1, Urban, Type A Adjust Cleanout, Sanitary Sanitary sewer spot repair (Includes fernoos for each location)	LF LS LS LF CY SY TON GAL SF SY SY	N 14th St 1 1 214 407 977 685 161 46 210 47 47 1	\$20.00 \$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53 \$2.00 \$195.40 \$3.85 \$13.45 \$8.50 \$3.00 \$4.00 \$800.00	0.00 1.00 253.00 407.00 977.00 0.00 177.65 0.00 214.00 77.00 77.00 77.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50 \$231.00 \$308.00 \$800.00	1.00 * 1.00 * 253.00 * 407.00 * 977.00 * 0.00 * 177.65 * 0.00 * 214.00 * 77.00 * 77.00 *	100% 100% 118% 100% 0% 110% 0% 110% 164% 164% 164% 100%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50 \$231.00 \$308.00	1.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	\$9,800.00 \$9,800.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
14 11ey 1 15 16 17 18 19 20 21 22 23 24 25 26 27 27A	Limestone Screenings Transition, 3 Feet Wide Subtotal Items 1-14 14 bounded by New York Ave, N 15th St, Wisconsin Mobilization Traffic Control Sawing Asphalt/Concrete Driveways Unclassified Excavation (Pav't, Driveways) 12" Crushed Aggregate Base Course Undistributed Geo-Grid 3" HMA Pavement, Type 4LT 58-28S Tack Coat Remove & Replace 8" Concrete Driveway w/ 2" C.A.B.C. 3" Pulverized Topsoil Seed (#40), Fertilizer, and Water Erosion Mat Class 1, Urban, Type A Adjust Cleanout, Sanitary Sanitary sewer spot repair (Includes ferncos	LF LS LS LS LF CY SY TON GAL SF SY SY EA	N 14th St 1 1 214 407 977 685 161 46 210 47	\$20.00 \$9,800.00 \$3,525.00 \$5.00 \$32.85 \$10.53 \$2.00 \$195.40 \$3.85 \$13.45 \$8.50 \$3.00 \$4.00	0.00 1.00 253.00 407.00 977.00 0.00 177.65 0.00 214.00 77.00 77.00 77.00	\$49,883.70 \$0.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50 \$231.00 \$308.00 \$800.00	1.00 * 1.00 * 253.00 * 407.00 * 977.00 * 0.00 * 177.65 * 0.00 * 214.00 * 77.00 * 77.00 * 1.00 *	100% 118% 100% 100% 0% 110% 0% 110% 164% 164% 164% 164% 164% 100%	\$59,683.70 \$9,800.00 \$3,525.00 \$1,265.00 \$13,369.95 \$10,287.81 \$0.00 \$34,712.81 \$0.00 \$2,878.30 \$654.50 \$231.00 \$308.00 \$800.00	1.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	\$9,800.00 \$9,800.00 \$

FOR 2024 ASPHALT PAVING II ALLEYS

CITY OF MANITOWOC

CONTRACT NO. WS-24-4

PAY ESTIMATE NO.: 2-FINAL

DATE: November 6, 2024

CONTRACT DATE: April 16, 2024

COMPLETION DATE: September 13, 2024

Contractor: Vinton Construction Company

CONTRACT AMOUNT: Change Order #1: \$622,536.11

Change Order #2-Final:

\$887.50

Z-Final:

\$652,183.26

ITEM	ITEM DESCRIPTION	UNIT	BID QUANTITY	UNIT PRICE	QUANTITY PREVIOUS COMPLETED	COST WORK PREVIOUS COMPLETED	QUANTITY COMPLETED TO DATE	% OF WORK COMPLETED TO DATE	COST WORK COMPLETED TO DATE	QUANTITY DIFFERENCE	COST WORK
lley #11	bounded by Michigan Ave., N. 15th St., New York Ave. & N. 14	th St.									
28	Mobilization	LS	1	\$9,800.00	0.00	\$0.00	1.00 *	100%	\$9,800.00	1.00	\$9,800.00
29	Traffic Control	LS	1	\$3,725.00	1.00	\$3,725.00	1.00 *	100%	\$3,725.00	0.00	\$0.00
30	Inlet Protection Type "D" (Diaper)	EA	4	\$160.00	4.00	\$640.00	4.00 *	100%	\$640.00	0.00	\$0.00
31	Sawing Asphalt/Concrete Driveways	LF	108	\$5.00	131.00	\$655.00	131.00 *	121%	\$655.00	0.00	\$0.00
32	Unclassified Excavation (Pav't, Driveways)	CY	518	\$32.85	518.00	\$17,016.30	518.00 *	100%	\$17,016.30	0.00	\$0.00
33	12" Crushed Aggregate Base Course	SY	1243	\$10.53	1,243.00	\$13,088.79	1,243.00 *	100%	\$13,088.79	0.00	\$0.00
34	Undistributed Geo-Grid	SY	876	\$2.00	0.00	\$0.00	0.00 *	0%	\$0.00	0.00	\$0.00
35	3" HMA Pavement, Type 4LT 58-28S	TON	205	\$189.70	214.27	\$40,647.02	214.27 *	105%	\$40,647.02	0.00	\$0.00
36	Tack Coat	GAL	60	\$3.85	0.00	\$0.00	0.00 *	0%	\$0.00	0.00	\$0.00
37	Remove & Replace 8" Concrete Driveway w/ 2" C.A.B.C.	SF	565	\$13.45	600.00	\$8,070.00	600.00 *	106%	\$8,070.00	0.00	\$0.00
38	Remove & Replace 6" Concrete Driveway & Sidewalk w/ 2" C.A.B.C.	SF	90	\$12.45	84.00	\$1,045.80	84.00 *	93%	\$1,045.80	0.00	\$0.00
39	Detectable Warning Fields (Natural)	SF	8	\$40.00	8.00	\$320.00	8.00 *	100%	\$320.00	0.00	\$0.00
40	3" Pulverized Topsoil	SY	195	\$8.50	170.00	\$1,445.00	170.00 *	87%	\$1,445.00	0.00	\$0.00
41	Seed (#40), Fertilizer, and Water	SY	195	\$3.00	151.00	\$453.00	151.00 *	77%	\$453.00	0.00	\$0.00
42	Erosion Mat Class 1, Urban, Type A	SY	195	\$4.00	151.00	\$604.00	151.00 *	77%	\$604.00	0.00	\$0.00
43	Limestone Screenings Transition, 3 Feet Wide	LF	41	\$20.00	56.00	\$1,120.00	56.00 *	137%	\$1,120.00	0.00	\$0.00
44	Furnish and Install 8" Storm Sewer Pipe, FVC (SDR-26)	LF	386	\$63.00	386.00	\$24,318.00	386.00 *	100%	\$24,318.00	0.00	\$0.00
45	Furnish and Install Type 1 Field Inlet	EA	3	\$2,078.00	3.00	\$6,234.00	3.00 *	100%	\$6,234.00	0.00	\$0.00
46	Furnish & Install Storm Inlet Casting (R-2050-A	EA	3	\$980.00	3.00	\$2,940.00	3.00 *	100%	\$2,940.00	0.00	\$0.00
47	Televise Storm Sewer	LF	386	\$3.00	386.00	\$1,158.00	386.00 *	100%	\$1,158.00	0.00	\$0.00
	Subtotal Items 28-47					\$123,479.91			\$133,279.91		\$9,800.00
rchard	Lane - S. 26th St. to Railroad Tracks										
48.	Mobilization	LS	1	\$9,800.00	1.00	\$9,800.00	1.00 *	100%	\$9,800.00	0.00	\$0.00
49.	Traffic Control	LS	1	\$3,725.00	1.00	\$3,725.00	1.00 *	100%	\$3,725.00	0.00	\$0.00
50.	Sawing Asphalt/Concrete Driveways	LF	95	\$5.00	94.00	\$470.00	94.00 *	99%	\$470.00	0.00	\$0.00
51.	Unclassified Excavation (Pav't, Driveways)	CY	866.00	\$28.95	866.00	\$25,070.70	866.00 *	100%	\$25,070.70	0.00	\$0.0
52.	12" Breaker Run Stone Material (6" and down)	SY	1,484	\$10.53	1,484.00	\$15,626.52	1,484.00 *	100%	\$15,626.52	0.00	\$0.00
53.	6" Crushed Aggregate Base Course	SY	1,484	\$5.05	1,484.00	\$7,494.20	1,484.00 *	100%	\$7,494.20	0.00	\$0.00
54.	3" HMA Pavement, Type 4LT 58-28S	TON	237	\$118.70	241.43	\$28,657.74	241.43 *	102%	\$28,657.74	0.00	\$0.00
55.	Tack Coat	GAL	68	\$3.85	0.00	\$0.00	0.00 *	-0%	\$0.00	0.00	\$0.00
56.	3/4" Crushed Limestone Shoulder, 12" Wide	LF	1,220	\$6.00	1,215.00	\$7,290.00	1,215.00 *	100%	\$7,290.00	0.00	\$0.0
CO1	Extra Excavation, 3' Pulverized Topsoil, Seed, E-Mat	LS	1	\$887.50	1.00	\$887.50	1.00 *	100%	\$887.50	0.00	\$0.00
	Subtotal Items 48-56					\$99,021.66			\$99,021.66		\$0.0

FOR 2024 ASPHALT PAVING II ALLEYS

CITY OF MANITOWOC

CONTRACT NO. WS-24-4

PAY ESTIMATE NO.: 2-FINAL

DATE: November 6, 2024

CONTRACT DATE: April 16, 2024

COMPLETION DATE: September 13, 2024

Contractor: Vinton Construction Company

CONTRACT AMOUNT: Change Order #1:

\$622,536.11

\$887.50

				- 40 P/1		400 PED CE					
			Change Orde	er #2-Final:		\$28,759.65					
						\$652,183.26					
		_			QUANTITY	COST WORK	QUANTITY	% OF WORK	COST WORK		
ITEM			BID	UNIT	PREVIOUS	PREVIOUS	COMPLETED	COMPLETED	COMPLETED	QUANTITY	COST WORK
NO.	ITEM DESCRIPTION	INTT	QUANTITY	PRICE	COMPLETED	COMPLETED	TO DATE	TO DATE	TO DATE	DIFFERENCE	DIFFERENCE
NO.	TIM DESCRIPTION	01111	QUANTITI	PRICE	CONFESTED	CONFESTED	TO DATE	TO DATE	TO DATE	DIFFERENCE	DIFFERENCE
lder D	rive										
57.	Mobilization	LS	1	\$9,800.00	1.00	\$9,800.00	1.00	100%	\$9,800.00	0.00	\$0.00
58.	Traffic Control	LS	1	\$3,525.00	1.00	\$3,525.00	1.00	100%	\$3,525.00	0.00	\$0.00
59.	Inlet Protection Type "D" (Diaper)	EA	2	\$160.00	2.00	\$320.00	2.00	100%	\$320.00	0.00	\$0.0
60.	Borrow Material	CY	51	\$20.00	0.00	\$0.00	51.00	100%	\$1,020.00	51.00	\$1,020.00
61.	Unclassified Excavation (Incl. Pavement & Curb)	CY	644.00	\$28.95	786.00	\$22,754.70	786.00	122%	\$22,754.70	0.00	\$0.00
62.	3" HMA Pavement, Type 4LT 58-28S	TON	187	\$150.60	201.17	\$30,296.20	201.17	108%	\$30,296.20	0.00	\$0.00
63.	Tack Coat	GAL	44	\$3.85	0.00	\$0.00	0.00	0%	\$0.00	0.00	\$0.00
64.	4" Crushed Aggregate Base Course (1-1/4")	SY	1,132	\$3.00	1,132.00	\$3,396.00	1,132.00	100%	\$3,396.00	0.00	\$0.00
65.	12" Breaker Run Stone Material (6" and down)	SY	1,132	\$10.53	1,559.00	\$16,416.27	1,559.00	138%	\$16,416.27	0.00	\$0.00
66.	Undistributed Geo-Grid	SY	1,132	\$2.00	1,132.00	\$2,264.00	1,132.00	100%	\$2,264.00	0.00	\$0.00
67.	Sawing Concrete, Full Depth	LF	143	\$5.00	200.00	\$1,000.00	200.00	140%	\$1,000.00	0.00	\$0.00
68.	Sawing Concrete Driveway/Sidewalk, Full Depth	LF	10	\$10.00	10.00	\$100.00	10.00		\$100.00	0.00	\$0.00
69.	3/4" Epoxy Coated Tie Bars (Includes Drilling)	EA	12	\$10.00	12.00	\$120.00	12.00		\$120.00	0.00	\$0.00
70.	Remove & Replace 6" Concrete Driveway & Sidewalk w/ 2" C.A.B.C.	SF	840	\$11.96	1,060.00	\$12,677.60	1,060.00		\$12,677.60	0.00	\$0.00
71.	Detectable Warning Fields (Natural)	SF	16	\$40.00	16.00	\$640.00	16.00	100%	\$640.00	0.00	\$0.00
72.	New 30" Concrete Curb & Gutter, Type "D", 7" Thick	LF	282	\$29.65	279.00	\$8,272.35	279.00	99%	\$8,272.35	0.00	\$0.00
73.	30" Concrete Curb & Gutter, Type "D", 7" Thick (Removed and Replaced) w/ 2" C.A.B.C	LF	101	\$35.65	103.00	\$3,671.95	103.00	102%	\$3,671.95	0.00	\$0.00
74.	3" Pulverized Topsoil	SY	178	\$8.50	223.00	\$1,895.50	223.00 *	125%	\$1,895.50	0.00	\$0.00
75.	Seed (Mixture No. 40), Fertilizer & Water	SY	178.00	\$3.00	223.00	\$669.00	223.00	125%	\$669.00	0.00	\$0.00
76.	Erosion Mat, Urban Class 1, Type A	SY	178	\$4.00	223.00	\$892.00	223.00	125%	\$892.00	0.00	\$0.00
77.	Furnish & Install Type "J" Casting (R-1550-A), with "T" Gasket	EA	1	\$995.00	1.00	\$995.00	1.00	100%	\$995.00	0.00	\$0.00
78.	Furnish & Install Trench Backfill	TON	18	\$23.50	0.00	\$0.00	0.00	0%	\$0.00	0.00	\$0.00
79.	Reconstruct Sanitary Manhole	EA	1	\$3,255.00	1.00	\$3,255.00	1.00 *	100%	\$3,255.00	0.00	\$0.00
	Subtotal Items 57-79					\$122,960.57			\$123,980.57		\$1,020.00
iver C	ourt										
80.	Mobilization	LS	- 4	\$9,800.00	1.00	\$9,800.00	1.00	100%	\$9,800.00	0.00	\$0.00
81.	Traffic Control	LS	- 1	\$3,525.00	1.00	\$3,525.00	1.00		\$3,525.00	0.00	\$0.00
82.	Inlet Protection Type "D" (Diaper)	EA	2	\$160.00	2.00	\$3,323.00	2.00	1000	\$3,325.00	0.00	\$0.00
83.	Grubbing	ID	28	\$30.00	28.00	\$840.00	47.00		\$1,410.00	19.00	\$570.00
84.	Borrow Material	CY	20.00	\$20.00	0.00	\$0.00	20.00		\$400.00	20.00	
			772	\$20.00	772.00		792.00				\$400.00
85.	Unclassified Excavation (Incl. Pav't., Curb & Gravel		The state of the s	250000000		\$22,426.60		1000	\$23,007.60	20.00	\$581.00
86.	3" HMA Pavement, Type 4LT 58-28S	TON	274	\$128.75	262.73	\$33,826.49	262.73		\$33,826.49	0.00	\$0.00
87.	Tack Coat	GAL	73	\$3.85	0.00	\$0.00	0.00	2000	\$0.00	0.00	\$0.00
88.	4" Crushed Aggregate Base Course (1-1/4")	SY	1,463	\$3.60	1,463.00	\$5,266.80	1,463.00 *	0.00000000	\$5,266.80	0.00	\$0.00
89.	12" Breaker Run Stone Material (6" and down)	SY	1,463	\$10.53	1,463.00	\$15,405.39	1,463.00	100%	\$15,405.39	0.00	\$0.00

FOR 2024 ASPRALT PAVING II ALLEYS

CITY OF MANITOWOC

CONTRACT NO. WS-24-4

Contractor: Vinton Construction Company

CONTRACT AMOUNT:

\$622,536.11

Change Order #1:

\$887.50

PAY ESTIMATE NO.: 2-FINAL DATE: November 6, 2024

CONTRACT DATE: April 16, 2024

COMPLETION DATE: September 13, 2024

Change Order #2-Final:

\$28,759.65

\$652,183.26

no.	ITEM DESCRIPTION	UNIT	BID QUANTITY	unit Price	QUANTITY PREVIOUS COMPLETED	COST WORK PREVIOUS COMPLETED	QUANTITY COMPLETED TO DATE	% OF WORK COMPLETED TO DATE	COST WORK COMPLETED TO DATE	QUANTITY DIFFERENCE	COST WORK
90. U	Indistributed Geo-Grid	SY	1,463	\$2.00	1,463.00	\$2,926.00	1,463.00	100%	\$2,926.00	0.00	\$0.00
91. s	Sawing Concrete, Full Depth	LF	541	\$3.50	587.00	\$2,054.50	587.00	109%	\$2,054.50	0.00	\$0.00
92. 3	Sawing Concrete Driveway/Sidewalk, Full Depth	LF	14	\$10.00	5.00	\$50.00	5.00	36%	\$50.00	0.00	\$0.00
93. 3	/4° Epoxy Coated Tie Bars (Includes Drilling)	EA	40.00	\$10.00	36.00	\$360.00	36.00	90%	\$360.00	0.00	\$0.00
	komove & Replace 6" Concrete Driveway & Sidowalk w/	SF	1,358	\$11.96	2,027.00	\$24,242.92	2,027.00	1498	\$24,242.92	0.00	\$0.00
95. D	otectable Warning Pields (Natural)	SF	8	\$40.00	8.00	\$320.00	8.00	100%	\$320.00	0.00	\$0.00
96. 12	lew 30° Concrete Curb & Gutter, Type "D", 7° Thick	LF	234	\$35.65	239.00	\$8,520.35	239.00	1023	\$8,520.35	0.00	\$0.00
97. (I	10" Concrete Curb & Gutter, Type "D", 7" Thick Removed and Replaced) w/ 2" C.A.B.C	LF	157	\$65.00	218.00	\$14,170.00	218.00	139%	\$14,170.00	0.00	\$0.00
99. 3	Pulverized Topsoil	SY	99	\$8.50	326.00	\$2,771.00	326,00	3291	\$2,771.00	0.00	\$0.00
99. s	eed (Mixture No. 40), Fortilizer & Water	SY	99	\$3.00	326.00	\$978.00	326.00	329%	\$978.00	0.00	\$0.00
100. E	rosion Mat, Urban Class 1, Type A	SY	99	\$4.00	326.00	\$1,304.00	326.00	329%	\$1,304.00	0.00	\$0.00
101. Po	urnish & Install Type "J" Casting (R-1550-A), with T" Gasket	Eλ	2	\$995.00	2.00	\$1,990.00	2.00	100%	\$1,990.00	0.00	\$0.00
102. A	djusting Water Service Box	£λ	1	\$300.00	1.00	\$300.00	1.00	100%	\$300.00	0.00	\$0.00
						\$151,397.05			\$152,948.05	_	\$1,551.00
	TOTAL FOR CONTRACT WS-24-4					\$620,212.26			\$652,183.26		\$31,971.00
	TOTAL PAYMENT				97.5%	\$604,648.86	100.0%		\$652,183.26	100.0%	\$47,534.4
OTE: AST	TERISK (*) DENOTES FINAL QUANTITY OR MEASUREMENT							Prepared By: 3	J.E		

O.K. to Pay If M. 11/4/24



VINTON CONSTRUCTION COMPANY

An Equal Opportunity Employer 2705 N. Rapids Rd. P.O. Box 1987 Manitowoc, WI 54221-1987

(920) 682-0375 Fax: (920) 682-2838

FINAL

Pay App Summary Sheet

Department of Public Works City of Manitowoc 900 Quay Street Manitowoc, WI 54220

Invoice Date: 10/31/2024

RE: Manitowoc Asphalt Paving II
Alleys
Project WS 24-4

VCC# 24079

Invoice #: 24079.2

(Pay App #2 Detail Attached)

Total Project To Date:

\$652,183.26

Retainage:

\$0.00

Less Previous Pay Requests:

\$604,648.86

BALANCE DUE:

\$47,534.40

Project: Manitowoc Asphalt Paving II WS 24-4

Contractor: Vinton Construction Company

Application Date: 10/31/24
Payment Application #: 2 FINAL

		1 3											1	1		I		
	DECCRIPTION OF WORK	Scheduled-					Work	~~~	pleted				Total Cor		ted/Stored	54	neduled Vs.	Percent
ПЕМ	DESCRIPTION OF WORK	Scheduled			т —		•		•	77-1-			1			30		
NO.							Previoi	US K	equest	This	Keq	uest	<u> </u>	o Da	ate	<u> </u>	Actual	Complete
		Quantity	UOM	Unit Price	An	nount					1					i		
							Quantity		Amount	Quantity		Amount	Quantity		Amount	Add(Deduct)	i i
Alley #13	bounded by New York Ave, N 14th St, Wi	sconsin Av	/e & N	13th St			l											
1	Mobilization	1.00	LS	\$ 9,800.00) s	9,800.00	1.00	\$	9,800.00	-	\$	-	1.00	\$	9,800.00	\$	-	100.0%
2	Traffic Control	1.00	LS	\$ 3,525.00	\$	3,525.00	1.00	\$	3,525.00	-	\$	-	1.00	\$	3,525.00	\$	•	100.0%
3	Sawing Asphalt/Concrete Driveways	64.00	LF	\$ 10.00) S	640.00	53.00	\$	530.00	-	\$	-	53.00	\$	530.00	\$	110.00	82.8%
4	Unclassified Excavation (Pav't, Driveways)	297.00	CY	\$ 32.8	\$	9,756.45	297.00	\$	9,756.45	-	\$	•	297.00	\$	9,756.45	\$	•	100.0%
5	12" Crushed Aggregate Base Course	712.00	SY	\$ 10.53	\$	7,497.36	712.00	\$	7,497.36	-	\$	•	712.00	\$	7,497.36	\$	-	100.0%
6	Undistributed Geo-Grid	687.00	ŞY	\$ 2.00	\$	1,374.00	-	\$	-	-	\$	•	-	\$	-	\$	1,374.00	0.0%
7	3" HMA Pavement, Type 4LT 58-28S	115.00	TON	\$ 198.70	\$	22,850.50	115.66	\$	22,981.64	•	\$	•	115.66	\$	22,981.64	\$	(131.14)	100.6%
8	Tack Coat	33.00	GAL	\$ 3.89	\$	127.05	-	\$	•	•	\$	•	-	\$	•	\$	127.05	0.0%
9	Remove & Replace 8" Concrete Driveway			_														
	w/ 2" C.A.B.C.	156.00		\$ 13.49		2,098.20	165.00		2,219.25	-	\$	-	165.00	\$	2,219.25	\$	(121.05)	
10	3" Pulverized Topsoil	67.00		\$ 8.50		569.50	148.00	\$		-	\$	-	148.00	\$	1,258.00	\$	(688.50)	
11	Seed (#40), Fertilizer, and Water	67.00)	201.00 268.00	148.00	_	444.00	-	\$		148.00 148.00	\$	444.00		(243.00)	
12	Erosion Mat Class 1, Urban, Type A	67.00	SY	\$ 4.00	' 	200,00	148.00	\$	592.00		┡╩┈		140,00	*	592.00		(324.00)	220.9%
13	Remove & Replace Type "J" Casting (R- 1550-A). w/ "T" Gasket, Sanitary	1.00	EA	\$ 995.00	، ا د	995.00	l _	s	_		s	_		\$	_	4	995.00	0.0%
14	Limestone Screenings Transition, 3 Feet	80.00	_	\$ 20.00		1,600,00	54.00	\$	1,080.00		\$		54.00	Ť	1,080.00		520.00	67.5%
	bounded by New York Ave, N 15th St, Wi	*****	,		' °	1,000.00	34,00		1,000.00		•		34.00	~	1,000.00	-	520.00	67.376
	Mobilization	1.00		\$ 9,800.00	+	9,800.00	1.00	Ę	9,800.00		Ś		1.00	Ś	9.800.00	-		100.0%
15 16	Traffic Control	1.00		\$ 3,525.06		3,525.00	1.00	\$			\$		1.00	\$	3,525.00		-	100.0%
17	Sawing Asphalt/Concrete Driveways	214.00			1 \$	1,070.00	253.00			-	Š	•	253.00	\$	1,265.00	_	(195.00)	
18	Unclassified Excavation (Pav't, Driveways)			· · · · · · · · · · · · · · · · · · ·	1	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Ť			<u> </u>			7	_,	Ť	(
	, , , , , , , , , , , , , , , , , , , ,	407.00	CY	\$ 32.8	5 5	13,369.95	407.00	\$	13,369.95	-	\$	•	407.00	\$	13,369.95	\$	-	100.0%
19	12" Crushed Aggregate Base Course	977.00	SY	\$ 10.53	\$	10,287.81	977.00	\$	10,287.81	ı	\$	•	977.00	\$	10,287.81	\$	-	100.0%
20	Undistributed Geo-Grid	685.00) \$	1,370.00	-	\$	-	-	\$	•	•	\$		\$	1,370.00	0.0%
21	3" HMA Pavement, Type 4LT 58-28S	161.00				31,459.40	177.65		34,712.81	-	\$	•	177.65	\$	34,712.81		(3,253.41)	
22	Tack Coat	46.00	GAL	\$ 3.8	5 5	177.10	-	\$	<u> </u>	•	\$	<u>.</u>	<u> </u>	\$		\$	177.10	0.0%
23	Remove & Replace 8" Concrete Driveway	210.00	SF	\$ 13.45	. .	2,824.50	214.00	s	2,878.30		s		214.00	ŝ	2,878.30	5	(53.80)	101.9%
-	w/ 2" C.A.B.C.	47.00) \$	399.50	77.00	5	654.50		5	-	77.00		654.50	5	(255.00)	
24 25	3" Pulverized Topsoil Seed (#40), Fertilizer, and Water	47.00			\$ \$	141.00	77.00	\$	231.00		5	-	77.00		231.00			163.8%
26	Erosion Mat Class 1, Urban, Type A	47.00		\$ 4.00		188.00	77.00	\$	308.00	-	\$	-	77.00		308.00		(120.00)	
27	Adjust Cleanout, Sanitary	1.00		\$ 800.00	_	800.00	1.00	\$	800.00	-	\$	-	1.00	\$	800.00	-	-	100.0%
27A	Sanitary sewer spot repair (Includes				1			<u> </u>							-			
	ferncos for each location)	1.00	EA	\$ 4,175.0) <u>s</u>	4,175.00	1.00	\$	4,175.00	-	\$	-	1.00	\$	4,175.00	\$		100.0%
27B	Furnish & Relay 6" PVC (SDR-35) Sanitary	10.00		\$ 113.00		1,130.00	4.00	\$	452.00	-	\$	-	4.00	\$	452.00	\$	678.00	40.0%
27C	Furnish & Install Trench Backfill		TON	\$ 23.50		517.00	-	\$	-	•	\$	•	•	\$	-	\$	517.00	0.0%
27D	Televise 6 inch Sanitary Sewer	81.00		\$ 10.00) s	810.00	81.00	\$	810.00	•	\$	•	81.00	49	810.00	\$	-	100.0%
	bounded by Michigan Ave., N. 15th St., N	ew York A	ve. & N	. 14th St.	\bot						_					<u> </u>		igsquare
28	Mobilization	1.00		\$ 9,800.00	_	9,800.00	1.00	\$		•	\$	•	1.00	\$	9,800.00	\$	-	100.0%
29	Traffic Control	1.00	_	\$ 3,725.00		3,725.00	1.00	\$	3,725.00	•	\$	-	1.00	\$	3,725.00		•	100.0%
30	Inlet Protection Type "D" (Diaper)	4.00	EA	\$ 160.00) \$	640.00	4.00	\$	640.00		\$	-	4.00	\$	640.00	\$	-	100.0%

Unit Cost Breakdown

Project: Manitowoc Asphalt Paving II WS 24-4 Contractor: Vinton Construction Company

Application Date: 10/31/24 Payment Application #: 2 FINAL

		1	l										<u>-</u>					
ITEM	DESCRIPTION OF WORK	Scheduled-					Work (Comple	hete				Total Con	nolet	ed/Stored	Sch	eduled Vs.	Percent
NO.	DESCRIPTION OF WORK	Scrieduled		<u>. </u>	F		Previou	-		This I	Requi	et e		o Da	-		Actual	Complete
		Ouantity	UOM	Unit Price	Amo	unt	PIEVIO	JS KCY	uest	1113	requi							
		Quantity	COM	Offic Price	AITIO	Unt	Ouantity	۸.	mount	Quantity		mount	Quantity		Amount	Add(Deduct)	
31	Sawing Asphalt/Concrete Driveways	108.00	LF	\$ 5.00	s	540.00	131.00	Ś	655.00	Quality -	<u>s</u>	-		\$	655.00		(115.00)	121.3%
32	Unclassified Excavation (Pav't, Driveways)	518.00		\$ 32.85	s	17.016.30	518.00	•	7,016.30		\$		518.00	\$	17.016.30	Ś		100.0%
33	12" Crushed Aggregate Base Course	1243.00				13,088.79	1,243.00		3,088.79	-	\$		1,243.00	\$	13,088.79	\$	-	100.0%
34	Undistributed Geo-Grid	876.00		\$ 2.00	_	1,752.00	-	\$	-	-	\$	-		\$	-	\$_	1,752.00	0.0%
35	3" HMA Pavement, Type 4LT 58-28S	205.00		\$ 189.70	_	38,888.50	214.27	\$ 40	0,647.02	-	\$	-	214.27	\$	40,647.02	\$	(1,758.52)	104.5%
36	Tack Coat	60.00	GAL	\$ 3.85	\$	231.00	•	\$	-		\$	•		\$		\$	231.00	0.0%
37	Remove & Replace 8" Concrete Driveway						1										/	
38	w/ 2" C.A.B.C.	565.00		\$ 13.45	_	7,599.25	600.00		8,070.00	-	\$	-	600.00	\$	8,070.00	\$	(470.75)	
	Remove & Replace 6" Concrete Driveway	90.00	SF	\$ 12.45	S	1,120.50	84.00		1,045.80	-	\$	-	84.00	\$	1,045.80	\$	74.70	93.3%
	Detectable Warning Fields (Natural) 3" Pulverized Topsoil	8.00	SF	\$ 40.00	\$	320.00	8.00_	\$	320.00	-	\$	•	8.00		320.00	\$	212.50	87.2%
	Seed (#40), Fertilizer, and Water	195.00 195.00	SY	\$ 8.50		1,657.50	170.00	\$	1,445.00		\$	-	170.00 151.00	\$	1,445.00 453.00	\$	132.00	77.4%
42	Erosion Mat Class 1, Urban, Type A		SY	\$ 3.00 \$ 4.00		585.00	151.00		453.00		\$		151.00	\$	604.00	\$	176.00	77.4%
	Limestone Screenings Transition, 3 Feet	195.00	51	\$ 4.00	\$	780.00	151.00	\$	604.00		-		151.00	₹	001.00	7	170.00	 ///
	Wide	41.00	LF	\$ 20.00	s	820.00	56.00	l s	1.120.00		s	-	56.00	\$	1,120.00	\$	(300.00)	136.6%
44	Furnish and Install 8" Storm Sewer Pipe,	386.00	LF	\$ 63.00		24,318.00	386.00		4,318.00	-	\$		386.00	\$	24,318.00	\$		100.0%
45	Furnish and Install Type 1 Field Inlet	3.00	EA	\$ 2,078.00		6,234.00	3.00		6,234.00		Ś	-	3.00	\$	6,234.00	\$	-	100.0%
46	Furnish & Install Storm Inlet Casting (R-			-	Ť	0,2000		<u> </u>	9,449		Ť							
	2050-A)	3.00	EA	\$ 980.00	\$	2,940.00	3.00	\$	2,9 <u>40.00</u>	-	s	-	3.00	\$	2,940.00	\$	-	100.0%
47	Televise Storm Sewer	386.00	LF	\$ 3.00	\$	1,158.00	386.00	\$	1,158.00	-	\$_	-	386.00	\$	1,158.00	\$		100.0%
Orchard I	ane - S. 26th St. to Railroad Tracks																	
48	Mobilization	1.00	Ŋ	\$ 9,800.00	S	9,800.00	1.00	\$	9,800.00	•	\$	-	1.00	\$	9,800.00	\$	•	100.0%
49	Traffic Control	1.00	LS	\$ 3,725.00	\$	3,725.00	1.00	\$	3,725.00	•	\$	-	1.00	\$	3,725.00	\$	•	100.0%
50	Sawing Asphalt/Concrete Driveways	95.00	LF	\$ 5.00	\$	475.00	94.00	\$	470.00	-	\$	•	94.00	\$	470.00	\$	5.00	98.9%
51	Unclassified Excavation (Pav't, Driveways)	866.00	3	\$ 28.95	\$	25,070.70	866.00	\$ 2	5,070.70	-	\$	•	866.00	\$	25,070.70	\$		100.0%
	12" Breaker Run Stone Material (6" and			,												١.		
\vdash	down)	1484.00	SY	\$ 10.53	\$	15,626.52	1,484.00	\$ 1	5,626.52	-	\$	•	1,484.00	\$		_	<u> </u>	100.0%
	6" Crushed Aggregate Base Course	1484.00	SY	<u>\$ 5.05</u>	S	7,494.20	1,484.00	\$	7,494.20	-	\$	-	1,484.00	\$	7,494.20	\$	-	100.0%
	3" HMA Pavement, Type 4LT 58-28S	237.00	TON	\$ 118.70		28,131.90	241.43	\$ 2	8,657.74	-	\$	•	241.43	\$	28,657.74		(525.84)	
	Tack Coat	68.00	GAL	\$ 3.85	\$	261.80	-	\$	•	-	\$	•	-	\$		\$	261.80	0.0%
	3/4" Crushed Limestone Shoulder, 12" Wide	4000 00			١.			١.	7 200 00	_	5		1.215.00	 	7.290.00		30.00	99.6%
	Extra Excavation, 3" Puvlerized Topsoil,	1220.00	LF	\$ 6.00	\$	7,320.00	1,215.00	\$	7,290.00		13		1,213.00	1	7,250.00	-	30.00	33.070
	Seed, Emat	1.00	LS	\$ 887.50	s	887.50	1.00	5	887.50	_	s	-	1.00	5	887.50	\$	-	100.0%
Elder Driv				-	† * -		:-	╽			T			Π				
57	Mobilization	1.00	LS	\$ 9,800.00	s	9.800.00	1.00	\$	9,800.00	-	\$	-	1.00	\$	9,800.00	\$	-	100.0%
	Traffic Control	1.00	LS	\$ 3,525.00	s	3,525.00	1.00	+	3,525.00		Ś		1.00	Ś	3,525.00	s	•	100.0%
	Inlet Protection Type "D" (Diaper)	2.00	EA	\$ 160.00	s	320.00	2.00	ŝ	320.00		5		2.00	Š	320.00	İs	-	100.0%
	Borrow Material	51.00	CY		+		2.00	+	320.00	51.00	5	1,020.00	51.00	\$	1,020.00	5	•	100.0%
ψU	DOLLOW LIGHTSIAL	21.00	LT	\$ 20.00	\$	1,020.00	<u> </u>	\$		1 21.00	<u>. ₹</u>	1,020.00	31.00	<u>, , , , , , , , , , , , , , , , , , , </u>	1,020.00	1 7		100.070

Project: Manitowoc Asphalt Paving II WS 24-4

Contractor: Vinton Construction Company

Application Date: 10/31/24
Payment Application #: 2 FINAL

	1		<u> </u>					_				_			_	
ПЕМ	DESCRIPTION OF WORK	Scheduled					Work (Completed			Total Cor	nplet	ed/Stored	Sch	eduled Vs.	Percent
NO.		ociicoo.co			T			ıs Request	This	Request	1	o Da		l	Actual	Complete
"		Ouantity	UOM	Unit Price	Ame	ount		S Kequest								
		Quantity	0011	Olike Trice		Julie	Quantity	Amount	Quantity	Amount	Quantity		Amount	Add(Deduct)	
	Unclassified Excavation (Incl. Pavement &	_								_		١.	22 754 70	١.	(4 440 00)	122.00/
61	Curb)	644.00	_	\$ 28.95	+	18,643.80	786.00	\$ 22,754.70		\$ -	786.00	\$	22,754.70	\$	(4,110.90)	
62	3" HMA Pavement, Type 4LT 58-28S	187.00		\$ 150.60	-	28,162.20	201.17	\$ 30,296.20		\$ •	201.17	\$	30,296.20	\$	(2,134.00)	107.6%
63	Tack Coat 4" Crushed Aggregate Base Course (1-	44.00	GAL	\$ 3.85	\$	169.40	-	\$ -		\$ -		\$		\$	169,40	0.0%
64	1/4")	1132.00	SY	\$ 3.00	s	3,396.00	1.132.00	\$ 3,396.00	_	s -	1,132.00	s	3,396.00	s	-	100.0%
	12" Breaker Run Stone Material (6" and	1132.00	31	3.00	╬┈	3,330.00	1,132.00	3 3,330.00				Ť	0,000	<u> </u>		
65	down)	1132.00	SY	\$ 10.53	\$_	11,919.96	1,559.00	\$ 16,416.27	_	\$ -	1,559.00	\$	16,416.27	\$	(4,496.31)	137.7%
66	Undistributed Geo-Grid	1132.00	SY	\$ 2.00	\$	2,264.00	1,132.00	\$ 2,264.00		\$ -	1,132.00	\$	2,264.00	\$		100.0%
67	Sawing Concrete, Full Depth	143.00	LF	\$ 5.00	\$	715.00	200.00	\$ 1,000.00		\$ -	200.00	\$	1,000.00	\$	(285.00)	139.9%
68	Depth	10.00	l,F	\$ 10.00	\$	100.00	10.00	\$ 100.00	•	s	10.00	\$	100.00	\$	-	100.0%
	3/4" Epoxy Coated Tie Bars (Includes										40.00	١.	420.00	۱		100.0%
69	Drilling) Remove & Replace 6" Concrete Driveway &	12.00	EA	\$ 10.00	\$_	120.00	12.00	\$ 120.00		\$ ·	12.00	\$	120.00	*		100.076
70	Sidewalk w/ 2" C.A.B.C.	840.00	SF	\$ 11.96	S	10,046.40	1,060.00	\$ 12,677.60	-	s -	1.060.00	\$	12,677.60	\$	(2,631.20)	126.2%
	Detectable Warning Fields (Natural)	16.00	-	\$ 40.00	+	640.00	16.00	\$ 640.00		\$ -	16.00	5	640.00	\$	-	100.0%
	New 30" Concrete Curb & Gutter, Type	10.00	_ 	3 10.00	╁	040.00	20.00	3 0.0.00		<u> </u>	1	Ť			_	
	"D", 7" Thick	282.00	LF	\$ 29.65	\$	8,361.30	279.0 <u>0</u>	\$ 8,272.35		\$ -	279.00	\$	8,272.35	\$_	88.95	98.9%
	30" Concrete Curb & Gutter, Type "D", 7"					·				1		1				
	Thick (Removed and Replaced) w/ 2" C.A.B.C	101.00	LF	\$ 35.65		3,600.65	102.00	\$ 3,671.95	_	s .	103.00	5	3,671.95	s	(71.30)	102.0%
	3" Pulverized Topsoil	178.00		\$ 35.65 \$ 8.50	_	1,513.00	223.00	\$ 1,895.50		\$ -	223.00	5	1,895.50	5	(382.50)	
	Seed (Mixture No. 40), Fertilizer & Water	178.00	SY	\$ 8.50	+-	534.00	223.00	\$ 1,893.30	-	\$ -	223.00	۱Ť	669.00	s	(135.00)	
					+			 		\$ -	223.00	5	892.00	+	(180.00)	
	Erosion Mat, Urban Class 1, Type A Furnish & Install Type ")" Casting (R-1550-	178.00	SY	\$ 4.00	\$	712.00	223.00	\$ 892.00	<u> </u>	3	223.00	+*	032.00	+*-	(100,00)	123.370
	A), with "T" Gasket	1.00	EA	\$ 995.00	s	995.00	1.00	\$ 995.00	_	\$ -	1.00	\$	995.00	\$_	-	100.0%
78	Furnish & Install Trench Backfill	18.00				423.00	-	\$ -		ş -	-	\$	•	\$	423.00	0.0%
	Reconstruct Sanitary Manhole	1.00	EA	\$ 3,255.00	+	3,255,00	1.00	\$ 3,255,00	-	\$ -	1.00	\$	3,255.00	\$	•	100.0%
River Cou		2100		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Ť											
80	Mobilization	1.00	LS	\$ 9,800.00	s	9,800.00	1.00	\$ 9,800.00	-	\$ -	1.00	\$	9,800.00	\$	•	100.0%
81	Traffic Control	1.00	LS	\$ 3,525.00	+	3,525.00	1.00	\$ 3,525.00		\$ -	1.00	\$	3,525.00	\$		100.0%
82	Inlet Protection Type "D" (Diaper)	2.00	EA	\$ 160.00		320.00	2.00	\$ 320.00	-	\$ -	2.00	\$	320.00	\$		100.0%
	Grubbing	28.00	ID	\$ 30.00	+	840.00	28.00	\$ 840.00	19.00	\$ 570.00	47.00	5	1,410.00	\$	(570.00)	167.9%
	Borrow Material	20.00	CY	\$ 20.00	+	400.00	- 20.00	\$ 040.00	20.00	\$ 400.00		-	400.00		-	100.0%
	Unclassified Excavation (Incl. Pavement,		<u> </u>	Ψ 20.00	۳-	400.00	 	\ <u> </u>		1	1	Ť		1 ' -		
85	Curb & Gravel)	772.00	3	\$ 29.05	s	22,426.60	772.00	\$ 22,426.60	20,00	\$ 581,00	792.00	\$	23,007.60		(581.00)	
86	3" HMA Pavement, Type 4LT 58-28S	274.00	TON	\$ 128.75	\$	35,277.50	262.73	\$ 33,826.49	-	\$ -	262.73	\$	33,826.49	\$	1,451.01	95.9%
	Tack Coat	73.00	GAL	\$ 3.85	\$	281.05	-	\$ -	-	\$	-	\$	_	\$	281.05	0.0%
	4" Crushed Aggregate Base Course (1-				T								E 044 00			100 00/
88	1/4")	1463.00	SY	\$ 3.60	\$	5,266.80	1,463.00	\$ 5,266.80		\$ -	1,463.00	\$	5,266.80	\$		100.0%

Page 5 of 5

Project: Manitowoc Asphalt Paving II WS 24-4

Contractor: Vinton Construction Company

Application Date: 10/31/24
Payment Application #: 2 FINAL

		1					<u></u>		 :			I _				
ITEM	DESCRIPTION OF WORK	Scheduled					Work (Completed			Total Cor	mplet	ed/Stored	Sct	neduled Vs.	Percent
NO.				1	Т			ıs Request	This	Request		To Da	te		Actual	Complete
		Quantity	UOM	Unit Price	Am	ount	Quantity	Amount	Quantity	Amount	Quantity		Amount	Add(Deduct)	
89	12" Breaker Run Stone Material (6" and down)	1463.00	SY	\$ 10.53	\$	15,405.39	1,463.00	\$ <u>15,405.39</u>	•	\$ -	1,463.00	\$	15,405.39	\$	<u> </u>	100.0%
90	Undistributed Geo-Grid	1463.00	SY	\$ 2.00	\$	2,926.00	1,463.00	\$ 2,926.00		\$ -	1,463.00	\$	2,926.00	\$	-	100.0%
91	Sawing Concrete, Full Depth	541.00	LF	\$ 3.50	\$	1,893.50	587.00	\$ 2,054.50	•	\$ -	587 <u>.00</u>	\$	2,054.50	\$	(161.00)	108.5%
92	Sawing Concrete Driveway/Sidewalk, Full Depth	14.00	ᄩ	\$ 10.00	\$	140.00	5.00	\$ 50.00		\$	5.00	\$	50.00	\$	90.00	35.7%
93	3/4" Epoxy Coated Tie Bars (Includes Drilling)	40.00	EA	\$ 10.00	s	400.00	36.00	\$ 360.00		\$	36.00	\$	360.00	\$	40.00	90.0%
94	Remove & Replace 6" Concrete Driveway & Sidewalk w/ 2" C.A.B.C.	1358.00	SF	\$ 11.96	\$	16,241.68	2,027.00	\$ 24,242.92		\$ <u>-</u>	2,027.00	\$	24,242.92	1	(8,001.24)	
95	Detectable Warning Fields (Natural)	8.00	SF	\$ 40.00	s	320.00	8.00	\$ 320.00		\$	8.00	\$	320.00	\$		100.0%
96	New 30" Concrete Curb & Gutter, Type "D", 7" Thick	234.00	LF	\$ 35.65	s	8,342.10	239.00	\$ 8,520.35		\$ -	239.00	\$	8,520.35	\$	(178,25)	102.1%
97	30" Concrete Curb & Gutter, Type "D", 7" Thick (Removed and Replaced) w/ 2" C.A.B.C					40.005.00	240.00	4 44 170 00	.	s -	218.00		14,170.00	١	(3,965.00)	138.9%
		157.00		\$ 65.00	+-	10,205.00	218.00	\$ 14,170.00	-		326.00	5	2,771.00	+	(1,929,50)	7
98	3" Pulverized Topsoil	99.00	_	\$ 8.50		841.50	326.00	\$ 2,771.00	 	\$		+-	978.00	+	(681.00)	4
99	Seed (Mixture No. 40), Fertilizer & Water	99.00	_	\$ 3.00		297.00	326.00	\$ 978.00	 	\$	326.00	+-		_		_
100	Erosion Mat, Urban Class 1, Type A	99.00	SY	\$ 4.00	\$	396.00	326.00	\$ 1,304.00	-	\$	326.00	\$	1,304.00	\$	<u>(908.00)</u>	329.3%
101	Furnish & Install Type "J" Casting (R-1550- A), with "T" Gasket	2.00	EA	\$ 995.00	ş	1,990.00	2.00	\$ 1,990.00		\$ <u>-</u>	2.00	+	1,990.00	1		100.0%
102	Adjusting Water Service Box	1.00	EA	\$ 300.00	\$	300.00	1.00	\$ 300.00	-	\$ -	1.00	\$	300.00	\$		100.0%
					╁					 		+		╁		
				 	十							上				
	Total:				\$	623,423.61		\$649,612.26		\$ 2,571.00		+	652,183.26	\$	(28,759.65)	4
	Less: 5% Retainage							\$ 16,240.31		\$ (16,240.31)		\$		╀		
	Total:							\$633,371.95	<u> </u>	\$ 18,811.31		\$		_		_
	Amount Previously Paid							\$604,648.86	<u> </u>	\$ -		\$	604,648.86	_		┿
	Amount DueThis Request			1				28,723.09		\$ 18,811.31		\$	47,534 <u>.40</u>			

FINAL PAYMENT LIEN WAIVER

KNOWN ALL MEN BY THESE PRESENTS that

WHEREAS, the undersigned Vinton Construction Company as prime contractor, entered into a Contract with the City of Manitowoc for the complete construction of the Asphalt Paving II WS 24-4 Alleys Project in Manitowoc, WI, and

WHEREAS, the undersigned has completed 100% of construction under the terms of the construction agreement,

NOW, THEREFORE in consideration of final payment by the City of Manitowoc to the undersigned Vinton Construction Company, the undersigned hereby waives and releases any and all liens, claims or rights to file a lien or liens to the extent of the payment above referred to against the City of Manitowoc.

The undersigned further states that all wages, materials, social security taxes, withholding taxes, sales and use taxes, permits, subcontractors and material men have been fully paid and discharged for all work performed; workmen's compensation and other insurance premiums and all taxes have been fully paid and discharged.

The undersigned further agrees to save harmless the **City of Manitowoc** from any matter or thing arising from the filing of claims or liens by any workman, subcontractor or material men in connection with the work performed.

IN WITNESS WHEREOF, the contractor by its authorized representatives has caused this waiver to be signed.

This 16th day of October, 2024.

Vinton Construction Company - CONTRACTOR

Witness:

SUBCONTRACTOR - FINAL PAYMENT LIEN WAIVER

PROJECT Manitowoc Asphalt Paving II WS 24-4 Alleys
SUBCONTRACTOR WUBLE DLANDSCAPE
KNOWN ALL MEN BY THESE PRESENTS that
WHEREAS, the undersigned, as subcontractor, entered into a Contract with Vinton
Construction Company for the complete construction of the Manitowoc Asphalt Paving II WS
24-4 Alleys Project for the City of Manitowoc, WI and
WHEREAS, the undersigned has completed 100% of construction under the terms of the
construction agreement,
NOW THEREFORE in consideration of final payment by Vinton Construction Company
to the undersigned, the undersigned hereby waives and releases any and all liens, claims or rights to
file any lien or liens to the extent of the payment above referred to against Vinton Construction
Company, and
The undersigned further states that all wages, materials, social security taxes, withholding
taxes, sales and use taxes, permits, subcontractors and material men have been fully paid and
discharged for all work performed; workmen's compensation and other insurance premiums and all
taxes have been fully paid and discharged.
The undersigned further agrees to save harmless Vinton Construction Company from an
matter or thing arising from the filing of claims or liens by any workman, subcontractor or materia
men in connection with the work performed.
IN WITNESS WHEREOF, the subcontractor by its authorized representative has caused this
waiver to be signed. This 10th day of October 2024 BY: Billane kantan
SUBCONTRACTOR SUBCONTRACTOR

FULL WAIVER OF CONSTRUCTION LIEN

§779.05, Wis. Stats.

Da	te: October 14, 2024			
1.	Claimant's Name: Claimant's Address:	Northeast Aspha 1524 Atkinson I	alt, Inc. Drive, Green Bay, WI 54303	
2.	Property Improved by Cont Street address: City o Legal description atta	f Manitowoc Asp	eck one): halt Paving II WS24-4 Alleys Project (NEA #61	8625)
3.	Contractor's Work furnishe	d at the request of	f:	
	VINTON CONSTRUCTION PO Box 1987 Manitowoc, WI 54221	ON CO.		
4.	Waiver of lien rights, conting The following work:	ngent upon receip	t of payment, is made for (select one):	
	All past Work, includin at any time by the Contra	g labor, services, actor at the Prope	material, plans or specifications performed or furty. This is a full waiver of all lien rights.	rnished
5.	material suppliers before dis	sbursement of fur) of Contractor's s	tire disclosure of the Contractor's subcontractors and related to the Contractor's above-described Washbontractors and material suppliers furnishing	Vork. If
	CONTRA	ACTOR NAME:	Northeast Asphalt, Inc.	
		Ву:	- Oscologist by: Tougles Toures	<u> </u>
	Authorized	i Agent's Name:	(signature) Taylor Tauer	. <u>.</u>
		_	(print name of person signing above) Agent	
		Address:	1524 Atkinson Drive, Green Bay, WI 54303	

NOTE: This waiver is dependent upon the actual receipt of payment. If the check issued is returned "NSF" or payment stopped, this waiver of lien is void.

Telephone Number: 920-494-0543

§779.05 Waivers of Lien. Provides, in part "(1) Any document signed by a lien claimant or potential claimant and purporting to be a waiver of construction lien rights under this subchapter, is valid and binding as a waiver whether or not consideration was paid therefor and whether the document was signed before or after the labor or material was furnished or contracted for. Any ambiguity in such document shall be construed against the person signing it. Any waiver document shall be deemed to waive all lien rights of the signer for all labor, services, material, plans or specifications performed, furnished or procured, or to be performed, furnished or procured by the claimant at any time for the improvement to which the waiver relates, except to the extent that the document specifically and expressly limits the waiver to apply to a particular portion of such labor, services, material, plans or specifications. A lien claimant or potential lien claimant of whom a waiver is requested is entitled to refuse to furnish a waiver unless paid in full for the labor, services, material, plans or specifications to which the waiver relates. A waiver furnished is a waiver of lien rights only, and not of any contract rights of the claimant otherwise existing."

Contractor's failure to pay its subcontractors or material suppliers from monies received for its Work may result in civil or criminal liability under Wisconsin's theft by contractor statute, §779.02(5), Wis. Stats.

SUBCONTRACTOR - FINAL PAYMENT LIEN WAIVER

PROJECT Manitowoc Asphalt Paving II WS 24-4 Alleys

SUBCONTRACTOR Stom Companies Inc.

KNOWN ALL MEN BY THESE PRESENTS that

WHEREAS, the undersigned, as subcontractor, entered into a Contract with <u>Vinton</u>

<u>Construction Company</u> for the complete construction of the <u>Manitowoc Asphalt Paying II WS</u>

24-4 Alleys Project for the City of Manitowoc, WI and

WHEREAS, the undersigned has completed 100% of construction under the terms of the

construction agreement,

NOW THEREFORE in consideration of final payment by Vinton Construction Company

to the undersigned, the undersigned hereby waives and releases any and all liens, claims or rights to

file any lien or liens to the extent of the payment above referred to against Vinton Construction

Company, and

The undersigned further states that all wages, materials, social security taxes, withholding

taxes, sales and use taxes, permits, subcontractors and material men have been fully paid and

discharged for all work performed; workmen's compensation and other insurance premiums and all

taxes have been fully paid and discharged.

The undersigned further agrees to save harmless Vinton Construction Company from any

matter or thing arising from the filing of claims or liens by any workman, subcontractor or material

men in connection with the work performed.

IN WITNESS WHEREOF, the subcontractor by its authorized representative has caused this

waiver to be signed.

This 114

day of

_ -

RY

SURCONTRACTOR

Witness

1000 530